=1 T = - —
\ | “ *"WHL,,/‘—L\ \%\ \

[7— &J/ﬂ/RﬂQuEV v 7]

ICOMISEERIKROMIEEFTDZEEMEBEZTT DT
— I CHEOSEMDALEICLD, RRTD

<
—

N
= MET

#F = 331004057

\(Q
A\ \“\ \\ N ) ‘\
. \ ) / \\\ \\‘\ -
Vo N
L/ TN\ \\\
& ‘ /,r’/ o i N
i ’/ - )

A
N
~

[COBNSBREEHEF > TNIET,

CDMRIE

m@ﬁ%)ﬂi %A/u\ﬂﬁk@ﬁ]

rt@/m/xﬂ(:u)ﬁv v 7J

SSCIMAS

—ERIE
ERR LE LIZ,

-

@/ﬂlxgldﬁz\ F¥¥E)'/ l\éﬁgulb\—g-
WEEOSIE X MDERER * & LUTE
ZINEEBZTNET,

ol ujlat EEE&O%A_ES% \
SIEE1§7ENJE EE' L/, !I IS%@E%D um'jja_ E \t &
AllEE bZ‘EimeE’G@Q, i ﬁé60’ﬁﬁj®$’( \
BAKZREZLR UL EDCTT, \
IR EPT, & ﬁ‘_i . [PIRREICELD, Bl |-
AT ES EQ?{QQ

EIE AN B
SHHOIEIC

N Ot (¥
CHONTmmANAHA

A
SIS,

S
By

\t
S
=
Ml
1;_
F4}

1]

o0 o

BEHEROR
R HBAEE T BB BISFR $& EEBEAR

(O BHIBAT | — R SRTE T BT DIER RO E T,
WP —EHIREE T 3OO ST,

@ Tt EIHFR
o &IBROERER SRR ICIOL THRT SMMER TT,
KBIRDBA TS OB CHRTERRL T2,

Tee e _——

BRI RS

CiuﬁNétmm%R®ﬁ4)F

BES

4 ﬂ‘ Kt
iz-: |—| 51 m
/ﬂT?kE 12.0 Fn3
EF = 331004058
[B&ES

4 ﬁ\ 7(]?'!':15111.
iE |—] 1.8 m
ET7KE\\ 0 4\=Fm3\

100
—"

(AFES) ‘
:u\l%&&ﬂ(h / J:ﬁ‘t_ck D N I)IL7J<D‘IE1$

O/ﬁﬂ(ED /u\/%i(biezriﬁm)(bl%7k(:

OREDMEE L. RKDECIZE

(iE=65)
ORKICIEDOUVENDRE L, RKENTDHCIBEZCIHS
RKISBODE UICHE

0.5m~1. OmEIEﬁ BREBK
0.5m&5i 1R T E TRk

SHTEERBE E R




